
SAP ABAP table /SAPSLL/CUHD_LOAD_0117_S {GTS: Customs Shipment Geography}

_SAPSLL_CUHD_LOAD_0117_S

CTYPL [CHAR (3)]

CTYDP [CHAR (3)]

CTYAR [CHAR (3)]

CTYIV [CHAR (3)]

CTYTR [CHAR (3)]

REGAR [CHAR (3)]

STALO [CHAR (2)]

NODDP [CHAR (20)]

NODAR [CHAR (20)]

GEOGR [CHAR (10)]

LAND1 [CHAR (3)]

LAND2 [CHAR (3)]

LAND3 [CHAR (3)]

LAND4 [CHAR (3)]

LAND5 [CHAR (3)]

_SAPSLL_CMDGEO

MANDT [CLNT (3)]

GEOGR [CHAR (10)]

 /SAPSLL/CUHD_LOAD_0117_S-GEOGR = /SAPSLL/CMDGEO-MANDT 

0..N

1

_SAPSLL_CMDNOD

MANDT [CLNT (3)]

NODE [CHAR (20)]

 /SAPSLL/CUHD_LOAD_0117_S-NODAR = /SAPSLL/CMDNOD-MANDT 

0..N

1

 /SAPSLL/CUHD_LOAD_0117_S-NODDP = /SAPSLL/CMDNOD-MANDT 
0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 /SAPSLL/CUHD_LOAD_0117_S-CTYAR = T005-LAND1 

0..N

0..N  /SAPSLL/CUHD_LOAD_0117_S-CTYDP = T005-LAND1 

0..N

0..N  /SAPSLL/CUHD_LOAD_0117_S-CTYIV = T005-LAND1 

0..N

1
 /SAPSLL/CUHD_LOAD_0117_S-CTYPL = T005-LAND1 

0..N

1
 /SAPSLL/CUHD_LOAD_0117_S-CTYTR = T005-LAND1 

0..N

0..N

 /SAPSLL/CUHD_LOAD_0117_S-LAND1 = T005-LAND1 
0..N1

 /SAPSLL/CUHD_LOAD_0117_S-LAND2 = T005-LAND1 0..N1

 /SAPSLL/CUHD_LOAD_0117_S-LAND3 = T005-LAND1 

0..N

1

 /SAPSLL/CUHD_LOAD_0117_S-LAND4 = T005-LAND1 

0..N

1

 /SAPSLL/CUHD_LOAD_0117_S-LAND5 = T005-LAND1 

0..N

1

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 /SAPSLL/CUHD_LOAD_0117_S-REGAR = T005S-BLAND 

0..N

0..N

_SAPSLL_LEGSLT

MANDT [CLNT (3)]

CUSCS [CHAR (5)]

STALO [CHAR (2)]


